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General Inslructions @

(i)
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(vii)
(viii)
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()

The question paper compriscs of three Sections, A, B and C. You are to attempt all the

sections,

All questions are compulsory. .
All questions of Section-A, Section-B and Section-C are to be attempted separately.

CQuestion numbers 1 to 3 in Section-A are one mark questions, These are to be

answered in one word or in one sentence.
Question numbwers 4 and 5 in Section-A are two marks questions, These are to be

answered in about 30 words cach.
Question numbers 6 to 16 in Section-A are three marks questions. These are to be

answered in about 50 words cach,
Question numbers 17 to 21 in Section-A are five marks questions, These are 1o be

answered in about ) words each,

Section B has 3 OTBA questions. Question number 22 is two marks, Question
number 23 is three marks and Question number 24 is five marks question.
Question numbers 25 to 33 in Section-C are multiple choice questions based on
practical skills. Each question is a one mark question. You are to select one most

appropriate response out of the four provided to you.
Question numbers 34 to 36 in section C are two marks questions based on practical

skills. These are to be answered in about 30 words sach.
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urT-3 / SECTION-A

/ﬁﬁqs.im&nmmﬁmim%?
f an electron Fv/

" Whatis the charge and mass o

T 3wl & e w3 e fe? )
How did Berzelius proposed symbuls to the elfﬂaents}/ /
T =7 vh = e fEE wantas fEmoa? A /
anisms? =
2

.

Whao proposed the five kingdom classification of living org
18em fr 5 ©F HE 5 T T 75 g # IE W 0 A <
The mass of an iron cube having an edge length 18 cm is 70 g. Find its density. &t -
w@nﬁw@miwmmt&hmﬁm
20 WA EM 4 9T om0 wify w ww 30 m/s ¢ @ I8 WA A weEs w1 @ @
wIf A7)
A person claps his hands near a cliff and hears the echo after 2 sec_ If the speed of the sound
in air is 40 m/s, find the distance of the cliff from the person. ,.:-*-
4%/ i 7 f2m e e & weE (o w7 Fwem fefm a e
(a)  F4 (b) e (c)  HEEH
Mlustrage stepwise how will you find the valency gf the following elements :
~{a Chlorine /E}-"’?‘omssium : Phosphorus
A4 g T A F v e €, 2w v :
(a) 4% 2N (by FEAc
() =F@= CO (d)  sffa A
(¢} HAraiq | (f) tifzam 5o
Symbals of the following elements are incorrect. Give their correct symbols:
—dar  Zinc /N " Carbon ¢
~Al)  Cobalt CO - (dj/ Argon A
ﬂ Iron | — Sodium So -
ALVAE S F:1 <forn fafag) w wfen 9w fataw) 3

L]

Define polyatomic jon. Write two examples along with their formulae, »# i
/9’ T et @ A €7 an wil Al & w wa (e ER E? oz 9 A o s g . R

T F gfw i
ud/’hat can be the symptoms of diseases ? Are the symptoms of all diseases always different ?
|

A

X

f no, give an cxample to justify your answer, .——
TR-wE & 2 fafire o fafam) om wm & o sl A fafa S ey i sfare 37
fam fsza & &mn £
Write two characteristics of kingdom - Plantac. Mention the name of one subgroup of plants
that do not have well - differentiated body desipn.
fre &) v =fan . ek A 1 5 - 4 'f
(a) T %yl & S E o w2 ol Lt - z
(b) T gen it w fam wE A E2 Y. F
Explain the following : X
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effects of the disease are reduced 7 > i
ﬂm}"" How do we kil microbes 7 _—
TUT W i fafag

SR Rk F g
Define thrust, o pressure
Calculate thrust of the |

10 cm? h}na#wwr'.n'mwni:ntmimﬁmm 3
TR A W W o s '

of 1500 Ma acts on a surlace of

arca 10 em? by a block of mass “m,
dock on the surface

and value of "m’ also.
1 ROTIS E R e gfa 20 Kite ¥ oam 3w wmdsf 7 oem b T

2km T W wafr F F 1 T F@im?
A sound wave has a frequency of 2.0 Kilz and wavelength 17 em. How long will it take to
travel 2 km? — >

/ TS A smiferE v ¥ fad 33y afe A st WA 103 ¥ A g5 wAer am 3

7

Difterentiate between density and relative density ? What is the density of silver given that jts
relative density is 1037 _— o
w1 W fafn e g A fatme) T & oforn fm A e w Gl e 2 3

ECE] s fafa) YATIE M
UF-UF S difm

Define work. Give jts Sl unit, State twa

G i F14 i

factors on which the magnitude of work depends,
/ Give one example cach for positive and negative work done, —

TR, 1 i e e w8 e v R Pk g 90 2 8 s o frer )

ammamaﬁmiaﬁﬂfmﬁmﬁmfmiaﬂtmﬁﬂﬁn| TTH IR TR P wen
fre o sin g iz 72 s w2 Gy

() 19 3 G g =t snfre o T ekt
(b) W A s et A fefad
() T A i 71 freedt w frevn aomd & 9 29 I W I A2

Swastik and Nirbhay were playing in a garden with a catapult, Nirbhay aimed at a squirrel

on a branch of a true and tried 1o kill it, while Swastik prevented him from dmng s0. During
their argument, the stone kot released and fell a few meters away.
() Name the energy possessed by the

stretched string of the catapult. 7
(b) Name the energy transformation involved when the stone is thrown, 5
{€)  Why Swastik stopped Nirbhay from aiming at the squirrel 7 What do we learn from #*
im ?

; ﬁnﬁaﬁ%mm%mmﬂnﬁuﬁawfunmaﬁ

i -
G WM F T IR am w6

. mfﬁfwmmmﬁﬁ?ﬂwmmﬁhmmﬂﬁﬂﬁnnaﬁﬁmfmﬂnﬁmm%
WY w1 a Al €

An atom of an element has 4 electrons in the outermost M shell, What will be
number of this element 7 Name this element, Find the

schematic diagram of its atom showing the distribution of

the atomic
valency of this element. Draw a

electrons in its shells, /
18 A UARTETT F e 1 v, fad e v #

Pape

5
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() W= _ o
(& T ﬁmﬂﬁmmﬁwﬁﬂi{%#f' ,
(e) FE3 a1 F0 N R 41 ¥ 3wfead TN '__ﬂ__
Ideptify lh#ph\[um cvt]-mgda-ml.nimdﬂd in whach the animal has : il N '
A preudoenelom - r
A water - derven tube system = !
rr__::_&_]'nml‘l“d les - - = ‘:-- =:' I
r= Pores i the boudy leading b a canal system
Notochord at some stages of ther life . =
(3l wrmimEmIremmtmragaEar R Em e g2 3
(b) we=4 sETATEFFOEn i armpavnEni?
() . =% fwm feq o tefust oo e S Esw 2
) . What s the cause of malana and how Joes it enter the human body? <~
L/[-'l'},' Wes generally tound ta mabe homa in wlhach ongan of the human body? <"
Mmﬁlﬁnn Bty way s by which st can be prevented’~"
(a) ¥ T wa whal m A @t SR F By s G
() e ol I 7 ss0om W ow i owwm T s He
o wm W omm of ow oww wfed oA 2 aum
TR O (e mE sie wm
fa Distinguish betwovty transverse waves and lnngatudmal
waves (three points)
. A peson s listening to the  sound of 50 _Hz sitbng  at  a
;Tut.mce of 430 m  from  the  source  of sound. What is  the
time mniterval lwtween suCCessive COMPressiens from the
'IIGL[I"I:'I':'.’__.'-I"' -.‘.’,..-F
(a] = TR G FE F et _ 5
(b} 1300hg T5MH FT OF I T Sdkm/h T T W i b g @ fom fam
T S AraE #1 v a
i;_‘::} ILELE; i‘-'a-‘FrFl F1 T% F7 ) ahai YT W S 0 mys & wmiex dn § F W
- K¥C T o7 8 3w asq @ fodie 39 = e (= 10m/st)
amie bwn forms of mechanical FRETRY, -
<7 Calculate the work required to be dane to stop & car of 1300 kg moving at a speed of 54,7
A bosdy of mass 1.5 kg is thrown vertically y . I ;
\% . ) s 1. v upwards with an inirial veloci p.
at will be its potendial energy ai the end of 25 2 (g - 1) m/s7), RS L e
HIM-& (g @5 )/SECTION - B (OTRA)
i {" Please ensure that open text of the given theme is supplicd with this question paper.) T
111; (ELCRERE . o B P — fj,e,:? &
Theme: Health & Environment [:,f}"'[ft; r"_,_.
=
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Do you think consuming fish with high Hg levels can be a problem? Hw‘./

Which priority problem areas should be kept in mind showing linksges between poor 3
environmental quality and health?

THAL WEATHA AW U e @ W w1 wE wfw w9 A wahw

- =

atare the “big three™? How can we check them in our environment? / ;/
‘fan @' F $2 w9 A vatEm O = SR AT e T
VM-7fSECTION - C sl
TF 91 3 A F R F s w afw wa F v 1 smfer a3 aln ay et oaf
T & 5 F 07w s g
(0 10 ) 55

© 2r @ e

A student while verifying the laws of reflection of sound measured the angle between the
incident sound wawve and reflectod sound wave as 110°. The angle of reflection is

@@ e b 55 © 2 (dy 227 v
mEiR i fmasdntaet: 1
(a) 7 7 Ach F we E A

(b) =W I AR W ATEA
() a7 F 3

(d) = ) A
Tressune is related o

(a)  Areaof the bottom surface of the object -
(b)  Area of the lop surface of the object i
{c} Volume of the obpect.

(d)  Surface area of the whole object,

uF sl o gz amm @ st f gvie 1o e wife 2 fein F wEm et m gl 2 2
Tz 4w w0 ¢ fa+ of i S wafm e man dm
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a -
ﬁ;{m hVﬁcUEﬂb‘L:

5._ 4m —-‘,

L—:". mndﬁ——-':
(3 2m/s by  Bm/s
(<) 0.2m/s (d) 1m/s

A slinky is attached with a fixed support as shown in figure. Alter disturbance pulse cover a
distance of 4 m in 2 seconds. The velocity of a pulse propagated through a stretched slinky

will bz

A
t §6’5 P 3'3} ;
E I DDILDI DI DI RS

FIoTadddddadds

mmymmwﬁém

.-_-Irn —

- i E A/
+—2 seconds——« -
(a) 2m/s (b) Bm/s /

(&) 02m/s (d} 1m/s /
TG, VA a6 A forg svarl o wahm & zom am & m.
(a) fedim (b) S

(c) ufsreH (d) P

Spirogyra, mosses and ferns belong to the sub-kingdom -

(a) Cryptogamae (b) Phanerogamae

(c) Angiospermae (d) Gymnospermae

T 30g N FewR fae 30g Wfewn wrgiEne fawed @ wfiEm s @ @ 20 SR
T [T 49 405 Hifzan wode @iy wm am 81 9r @y 9@ fram & s d A t
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{(a) Fer sy
(b) T A
(€) == o oy
(d) =wfmmey £ arde Cill
When 30g of copper sulphate solution reacts with g of sodium hydroxide solutien, 205, of
copper hydroxide solubion and 4y of sodium sulphate precipitate was formed, This
statement is in accordance with-
(a)  the law of constant proportiong
(B)  the law of chemical combinations
(£}  the law of conservation of mass
{(d)  none of the above
30 quﬁﬁqﬂmﬁﬁmhﬁdﬂﬂmfﬂlT‘qﬁfiﬁ-ﬁﬂﬂaﬁilﬁﬁmmfﬂ'ﬁ?
(a) Sy % zerer 3t ¥ rema @ sl 2
(b) =09 1 o Svwnsl ¥ gomm @ arfvs 2
(c) TR Ny s F wemen A B
(d) Fmlumgsda+dsd
- Anu heated calcium carbonate in an open vessel. What would have been Anu's observation

from the following statements ?

(a) Mass of the reactants is more than mass of the products, =
{b} Mass of the products is more than mass of the reactants.

<) Masses of the products and rectants are equal.

{d) None ol the above.

oA fam o & arefs andt & o 2 -

(a) TEATSATTH S RFEIEREY
(c) Faeregsf (d) 2T=TEIg2
The group to which prasses belongs is
(a) Monocotyledonous (L) Dicotyledonous -
c) Gymnospems (d) Preridophytiss
3 nnF &9 A v d
(a) TFATITH (b) 3] dfamm
(¢) J e (d) F T = )
Seeds of pea have :
(a) one cotyledun (L) many cotyledons &
- {€) two colyledons {d) no cotyledon
e o & e weet A oftaffa A Al R w &
()  wgiam (b) iR
(0 sEeEm d) ymfam
The process of changing of a Pupa into an adult mosquita is known as :
(a) metamorphosis (b)  moulting
(c) laying (d)  embryology 2

Page 7of 9
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-‘“’/ A spring balance calibrated in Newton reads 19.6 N. Calculate its mass in grnms,-}f

mﬁﬁﬂﬂm#mﬂmﬂmﬁiﬁﬂ?gﬁm:‘
et # T s wen e wand! ) T S

et T 1 gfem?d
THEe 07
ST (TT) |34
e (Fm) [ o
| g #z 3

Material

D-:-rlsihrxﬁfcm:’
Gasoline 07
Sl SRR
Mercury 136 ,/

ilfﬁfﬁﬂ {wax) | 087

< Molten load | 113
@ STATTER ¥ 72 9 oz e & i o e &

wd

=
T )

=

~Ewgkd L

CALR-ORE ) So R ap— P ":iflﬂ-_v{‘l Fifad

For performing an experiment to Verify Archimedes' P

balance to measure the weight of a solid as shown
water contained in a overflow-c

graduated cylinder as shown is figure.

Fage B uf9

A = a5 G foy o el § R fay (

ials i hich an abject of density 5.07
£/cm? would sink and the materials on the surface of which it will float,

rinciple, a student used a spring
in figure. The solid was then lowered in

an and the water displaced by solid was collected in 2
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Find the volume of the water displaced by the solid
olololo-
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